|:F| 1 ﬁ‘%loom EfE HETRERR - HETHERAR - HEF/D - hEREAEER - HETR LRGBS

AR 8kE WS
FRER AT - TR W

11H1H 12:10 T2

£E08% (GR) 12.9 i Al (HE—H) 1980 11A1H 15:08 MR
T 3H0E+8
150 R 0.1 2%H ja: 1.5
NEAL V=v  fun - K4 i Fofk aAvb Q gy V= fun - K4 B Fofk Vb Q
R N7 Il
1 2 2529 ‘HH 2Ty (1) Kk 13.70 q 1 6 1917 i TH (1) HEZF 13.93 a
TVNT ek %)
2 4 2023 AR B (1) HmE=4 14. 08 q 2 9 2025 fHEF 48 (1) ME=Hf 14. 15 a
A%Hh I3 ThhT a)h
3 8 2132 AW IFE (1) 14. 25 a 3 4 2327 Wk HE (D - 14. 40
HE b TN THA
4 72719 ek TR (D FIEH 14. 33 4 3 2722 IR BBV (1) P 14. 57
= 7Y Jot¥ vaa
5 9 2218 K[E L) L 14. 59 5 5 2524 Hi SIET (1) Ktk 14.72
Arvayy” F1Y A% nth
6 3 1816 iER FE (1) HE— 14. 98 6 8 2129 A£H ik (1) 14.73
NAdEESS vk A
7 5 2318 =& S (D) S 15. 38 7 7T 2245 M () 14. 74
AFNG a2 AR F It
8 6 1918 HE  FEK (1) HEZF 17.39 8 2 2428 A HER (1) METE 15. 88
3#H JE: +1.5
= A = e ALk 1pvh Q
Ayng hik
1 5 2326 AL FEH (D SEHH 13. 84 a
=vatl) ¥7
2 4 1813 #Rfk R (D) ME—P 13.99 a
7) W
3 3 1920 A% EhE (1) HE 14.19 a
7)% Ftn
4 9 2721 @R g (1) 2E)PEH 14. 36
AT 3%
5 7 2130 HRE Ewe (1) W 14.53
VALY
6 6 2236 SEJE B (1) il 14. 55
AN 7
7 2 2526 JAEE R (1) Ktk 14. 58
197 74
8 8 2008 AE = (1) HE= 14.96

PRL]]



1 4F100m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR 8kE WS
FRER AT - TR W

11H1H 12:10 T2

£E08% (GR) 12.9 gl R (HE—-H) 1980 11A1H 15:08 MR
7
& 2.0
JBAL V=v  Fun' - K4 BiE] Fogk aAvb
NGV
1 7 2529 EHM 275 (1) Ktk 13.79
AYn7 Hik
2 5 2326 AR {ESH ) S 13.97
=yat) %7
3 4 1813 Mk MR () HE—F 14. 08
7) W
4 2 1920 A% EhE (1) HETG 14.10
%)t
5 8 2025 fE¥F A4H (1) HE= 14. 20
ey N
6 3 2132 Al KE (1) {Egh 14. 34
T NT Bk
7 9 2023 M ERE (1) HE= 14. 44
W7 Fv
6 1917 kil FHF (1) MEZF DNS
FL5l  DNS:&i5



|:F[ 1 ﬁ‘%soom I HETHRERS - HETEERRS - HEM/D - hEREETER - HETREBREGS

FOH R 8kE W
FOER AT - A SR

SRk (GR) 2.26.40  F Lk mEgy (HHE=d) 2008
A LL—RA

JIEAT fon - K4 44 [Bil) et 2A4/b W V- #HJE
1 2530 JEED g (D DRFAT AR Kt 2.21.49 GR 1 6 1

2 2138 f&fH wr (1) ZAEVE IS 2.34.56 1 1 2

3 2219 TR MESE (1) VAN e (L 2.36.85 1 2 3

4 2137 HhA TE 1) NEN Y I 2.37.38 1 9 4

5 2218 K[H L (D = 7Y L 2.37.70 1 3 5

6 2131 A EFmE (1) At =)t g 2.37.72 1 4 6

7 2525 AR #EF () AETNT NED PRt 2. 40. 64 1 8 7

8 2723 FF EHE (D ISV VAN 21178 2.40. 83 2 3 1

9 2717 A H RE (D TVE va) 21178 2.41.86 1 5 8

10 2241 A€ AR (D) e A3 Il 2.43.52 2 5 2

11 2316 i BAr (D VUV ES S 2.47.12 2 4 3

12 2427 ERE - AT (D Fhy An) T b 2.54. 50 2 2 4

13 2007 HAE (1) EVZ MRS E = 2.57.21 2 6 5

14 2006 K4 3 (D AV =V E=rh 2.58.29 2 9 6

15 2013 R & (1) 4 4 == 2.59. 29 2 8 7
1818 /MR #&FIL (1) e )y HE— DNS 2 7 0

2527 =K RmEE (1) ¥ Ktk DNS 1 7 0

FL#5l DNS:&i5



':F' 1 ﬁ‘% 4X100mR T HWETHERS - HETHEEAS - HERD - PEREEES - HETRLBEHS
E I S5
FOEREAT AT W72
11310 16:35 Yk
i
14 Sh=v F=hf  KALH 54. 47 2% V= F-b4 WE=rh 55. 30
= - - K4 ] == - K4 i)
Aby 47 1¥)7 74
1 2526 JHEE R (1) Kt 1 2008 A Z (1) HE=
NGV %) v
2 2529 ETH 275 (1) K 2 2025 fEEF 4 (D HE=
Jod¥ <32 TN B
3 2524 M IHET (1 Ktk 3 2023 JHEIE B (D HZE =
DIFAT AR R
4 2530 JWHEE  E (D Kk 4 2018 il 72od (1) HZE =
3% vy F-h4 SEEH 55. 92 455 2=y F-bK HE—rh 56. 27
== - K4 P& == - K4 i)
W 2kt Y
1 2318 =k =& (1) S 1 1811 MEJL  FEE (1) HZE—r
AYng hik =vat) *7
2 2326 L fEA (D S 2 1813 SRk MEE (D HZE—r
VAL ES RS Aryany™ F19
3 2329 R HEE (1 SEHH 3 1816 #iEw FE (1) HZE—
Thh7 a)h g FR
4 2327 R HFE (D SEEH 4 1817 M Faf (1) HE—rh
57 -y F-b4 56. 54 635 6V-v F-04 Il 56. 86
== - K4 i) =4 = - K4 i)
A% nh 7Y <tn
1 2129 M HEE (1) T 1 2238 B R (D el
ey N y70% <4
2 2132 A AFE Q) T 2 2245 [ = (1) el
AT % )= 7Y
3 2130 SRE EBE (1) T 3 2218 K[EH L) el
) AT VALV VN
4 2136 K¥F & (1 T 4 2236 ZEJF fiiz (1) el
8-y F-b4  JIFEH DQ, *#R3
== - K4 i
7)% Fen
1 2721 & e (1) )P
HE F
2 2719 fex A FH (1) 21y
TN T
3 2722 FEIE BBV (1) )P
T7% 2N
4 2716 A fEE (D )P
FB DQ:%k# *R3:A—/N—Y—> 3—4



|:F| 1 %%loom EfE HETRERR - HETHERAR - HEF/D - hEREAEER - HETR LRGBS

AR 8kE WS
FRER AT - TR W

11H1H 12:40 T

SFisk (R 11.8 NI BGE] @) 1987 11H1H 15:14 gk
T 3H0E+8
1 B 0.1 2%H Ji: +0.9
A e v i Fofk aAvb Q ERE V= fon - K4 B Fofk Vb Q
703 T¥b T AFY
1 702340 R EI} (D SEHH 12.52 q 1 8 2320 R &k (1) SEHH 12.74 a
TEF b SAZAN
2 1 1920 @37 BEAN (1) ME_H 12.94 q 2 5 2043 HH fesk (1) HZE=H 13.03 a
A Y agry W) T2k
3 8 2017 fFE HmUY () ME=F 13.22 q 3 4 2723 Zafh HE (1) I 13.16 a
A9z b AREVAYS
4 4 1814 Fk B (1) HE—H 13. 26 4 6 2231 f&M A (D) 13. 24
IR R by AV VAN
5 5 2724 PR @ (1) &I 13.27 5 2 1925 JEH pesk (1) HE—F 13.27
Van I VAt 177 boem
6 6 2425 M B (1) mgGH 13.65 6 9 2424 BA  BE (1) mET 13.35
YR AVEVYY) Thve vy
7 3 2142 K& el (1) JWE§H 13.71 7 7 2538 il fEd (1) Ktk 13.55
ALV ZED ZAS N
8 9 2540 AR KB (1) Ktk 13. 86 8 3 1815 f&H R 1) HE—f 13.63
Ty 7% FVE vt
9 2 2235 KH % (1) e 14.12 9 1 2156 T Yot (1) R+ 13.90
3#H A 0.6
NERE V= v = K4 EilE] Fogk aAvh Q
v~ eth
1 8 1812 4l AN (1) HE—F 12.87 a
VAVAEUAN
1 2 2030 R &A1) HE= 12.87 a
S A Y
3 3 2534 TEM B (1) Rtk 13. 36
U EEV]
4 9 1922 JII& & (1) HES 13.49
EFUVEEDA
5 12234 KR Ak () 13. 74
) viy
6 6 2154 U W& (1) W 13. 77
an’ v ynat
7 4 2718 /AR B () F)IWEH 13.86
Fv% Van
8 5 2333 mA (D S 14. 04
THF Iy
7 2423 B3I BE () mgEE DNS

FL#5l DNS:&i5



EF[ 1 %%loom T HETRBEHS - BETREZES - HEH/ - PERAETER - HEMELREDS
F oW OE o 8Em WisC
FOERTAT WA

11H1A 12:40 T
Siisk (GR 11.8 /NI BE] L) 1987 11A1H 15:14 P

VN

J&: +0.7
JBAL V=v  Fun' - K4 BiE] Fogk aAvb
Iy THH
1 5 2340 f&E w3 (D) SEE A 12.76
T AFY
2 4 2320 RBIE EwBER Q) SEE 12.92
Ay ayh
3 6 2030 FEBE &A1) HE=G 12.94
v~ b
4 7 1812 &L AN (1) HE— 13.08
TEF ~Yh
5 9 1920 &% B (1) HEG 13.13
Bh) Tk
6 32723 M B (1) F)IFEH 13.14
VA
7 8 2043 HH Fest (1) HE= 13.18
Aby Vagar
8 2 2017 fHI @A (1) HE= 13. 48

PRL]]



1 5 +1500m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR 8kE WS
FRER AT - TR W

11A1H 15:25 e

2Fesk (GR) 4.38.00 @k EUH (RIH) 2013

7

JIEAZ ORD  fvn'— K4 BiE] RLER Vb
Y EVL]

1 5 2334 A FEK (D S 4.35.48 GR
B ARy

2 11 1816 &M EA 1) HE-—f 4.42. 40
YeEh 43

3 15 2159 AR R (1) R 4.42.47
V2N EV)

4 2 2029 S & (1) HE=f 4.43.90
% b

5 3 2148 fExK KAN (1) WEEH 4.48.73
TEF 77

6 4 2423 JBST B (1) Mg 4.51.72
A7 4y

7 1 2045 HRE B (1) HE= 4.53.54
AN EV

8 71811 frEE sEk (1) HE— 4.54. 42
BFE) valw

9 14 2349 &% KE (D A 4. 58. 66
W B

10 18 2019 =B K (1) HE= 5.01. 45
=V an%

11 12 2335 PR % (D A 5.01.55
EN 44

12 16 2541 HA K (1) Kitd 5.01.95
UZS AV

13 10 2160 J¥EES WA (1) WEFH 5.07. 50
VAUV Y

14 13 1921 BEE B4 () HE— 5.12.78
A2 AN

15 6 2539 VEH HRK (1) Kek 5.13.20
oy Fagtq

16 17 2536 /b A (1) KehH 5.30. 07
VVANVE A

17 9 1926 M M (1) HEC 5.44. 97
w7 any

18 8 2426 AVH ZXRK (1) Mgt 5.59. 14

PRL]]



b 1 5B F4X100mR

T HETWRERR -

- PERAEER - HETREERERR

E RIS {5
FRERTEAL A HEE

11H1A 16:48 Pk

i
135 2=y F-bA HE = 51.13 25 =y F-04  HE—| 51.29
= - - K4 P& == - K4 i)
AV A
1 2030 JARE &N (D HE= 1 1815 #&M iR (1) HE—
MYRELYY) e ek
2 2017 fFE o (D HE= 2 1812 41l AN (1) HE—H
VAP A9z ~b
3 2043 EH Bk (1) HE=rh 3 1814 H k B Q) HE—rh
EVA Y V] a4y Jn
4 2024 4 FeHE (1) HE=rh 4 1813 HAEE LK () HZE—r
33 8V-v F-04  FHFIA 52. 02 435 PRI Y N 0 52. 63
== - K4 g == - K4 i)
T/ Jay AR ZEY
1 2333 mA P (1) S 1 2540 JEIE KBS (D) K
ANED LY AV
2 2340 &l =3} (1) FH 2 2534 ffH fm (1) Ktk
T AFY Thye v 2%y
3 2320 B EEk () SEH 3 25638 il HiEt (1) Ktk
Mo Vany 1) Ik
4 2350 A FEk (1) SEEH 4 2535 AT AR (1) Kt
53 Sh—y F-h4 HET 52. 69 635 6l—y F-b% T 54. 50
== - K4 i =4 = - K4 i)
vt ank &) vty
1 1927 &R)2 &4 (D HE— 1 2154 I wE (1) T
T8F b Y vaury
2 1920 B3 BEA (D) HZE 2 2142 K& g (1) T
94 Vay v antd
3 1922 JIl& = (1) HE 3 2156 BT e (D T
tey )7k HE b
4 1925 JKH fiesh (1) HE 4 2148 fEx K KFn (1) T
T V= -0 SEHAB 54. 56 8% -y F-b4 A 54. 67
== - K4 i =4 - - K4 i)
JUARSEEVR 1767 bven
1 2339 i HESF (D SEHH 1 2424 B BEZ (1) B
w7 )7 VAN ALk
2 2345 A KZE (D S 2 2423 3L S (1) [l kG;
¥vF 4hb Van I VAt
3 2336 AiE b (1) SEE 3 2425 [ (1) B ZEs
w97 Fapa w97 any
4 2343 A EE (D SEH 4 2426 KA ZK (1) EZEH

PRL]]



i 2 42 F100m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR Sk
FER AT ¢ TR

it 3¢

5%

11H1H 12:20 T2

£E08% (GR) 12.5 gl R (HE—-H) 1981 1LATH 15:11 R
T 3H0E+8
1l B +L9 2HH. B +0.7
NEAL V=v  fun - K4 i FLER Vb Q gy V= fun - K4 B Fofk Vb Q
=y tzf W7 Ik
13 1911 MgE 4 (2) HEZ 14. 11 aq 17 2511 Byl EA& (2) KikH 13. 86 a
=0 Tt VEVESb]
2 1 2512 JBE T2 2 Kt 14. 24 q 2 9 2407 &% Fife (2 Mt 14. 45
NAVAR V) EVZVN
3 2 2231 ZJR <5 (2) s 14. 25 q 3 4 1830 X (2 HE— 14. 46
Eh UF W) Th
4 5 1834 [T H7s (2) HME—F 14.27 q 4 2 2046 FHEF RE (2 HE=G 14. 49
Ty ThA VAR
5 6 2051 KH KE (2 HE=4 14. 49 5 3 2228 RBIR Hip (2) il 14.59
Tk yanT AVhY Fen
6 72412 LRy AEE (2) MG 15. 17 6 8 2324 #H)II T= (2) S 14. 62
Ty T W) 7
7 8 3057 KME 7rz (2) HWZEIES 15. 82 7 6 2712 Zxi g (2) F)IVEF 14.75
N0 Mowtn
8 9 2126 =% WE (2 WEH 15. 91 5 1912 M Fa (2) ME—HF DQ, FS
NEFaT 3
4 2328 % ¥k (@) S DNS
R} EN JA: 40,5
Nafr v—v Fvn- K4 B Bk vk Q
'VEEYE
1 9 3051 MR (BT (2) MERET 13.16 a
WREREY)
2 5 2509 Rl Xy (2) Ktk 13.91 q
AR EEY
3 8 2411 I Ak () Mt 14. 20 q
A T
4 1 2223 kI AHOSx (2) &Lt 14. 27 aq
N7 af)
5 4 2048 JH HER (2) HE= 14. 49
AN A
6 2 1913 A EHE () HEZ 14. 58
IVVAN &
7 72314 FH O EBE (2) SEHH 14. 65
)y EL
8 6 2313 Jo# @5 (2) S 14. 68
AN
3 2143 h{E EE (2) T DNS
FL5l DNS: &R DQ:%k# FS: FIERA—k



i 2 42 F100m

EfE HETRERR - HETHERAR - HEF/D - hEREAEER - HETR LRGBS

AR 8kE WS
FRER AT - TR W

11H1H 12:20 T2

SRk (GR) 12.5 gl R (HE—-H) 1981 11A1H 15:11 R
7
J&: -0.8
JBAL V=v  Fun' - K4 BiE] Fogk aAvb
NVEEYE
1 6 3051 f&fE #iET (2) HMEALET 13.17
WREREY)
2 4 2509 Elfr Xy (2) Kfk 13.80
w7 Ik
3 5 2511 Ml B (2) Ktk 14. 11
A ERVAE
4 1 2223 kI AHoOx (2) I\ 14. 26
=0 Tt
5 7 2512 [BRE t& (2) KXt 14. 30
E=UREE S &N
6 3 1911 JEjE B4 (2) HEZH 14. 31
AR
7 9 2411 BEH EEK (@) Mgt 14. 41
NV
8 8 2231 ZJH =<5 (2) 14. 49
e UF
9 2 1834 [yt B (2) HE—F 14. 62

PRL]]



|:F[ 2 ﬁ‘%soom I HETHRERS - HETEERRS - HEM/D - hEREETER - HETREBREGS

FOH R 8kE W
FOER AT - A SR

2Fesk (GR) 2.24.15 ek wF (HE—4) 2012
ZALhL—RA

JIBRE  dunT - R4 44 [Bil) et 2A4/b W V- #HJE
1 2127 A% ik Q) JEVEY] I 2.25.83 1 1 1

2 2054 (LA () TYE W HE = 2.29.25 1 4 2

3 1835 /INKF mAr (2) Th7 2% HE—f 2.31.15 1 5 3

4 2550 mifE 1F72B (2) Py 5 Kk 2.32.39 1 6 4

5 2045 F I A (2) UESEN HE=rp 2.32.49 1 8 5

6 2516 A0 Kz (2) ay v af Kt 2.35.95 1 7 6

7 1831 # EH (2) EVZIR R0 HE—f 2.37.05 1 3 7

8 2047 Rk ®r (2) ATY)T a3 == 2.39.39 1 2 8

9 2323 I BBEALE (2) L4 TN S 2.41.65 2 1 1
10 2715 £MH *H (@) % 21178 2.42.78 2 5 2
11 2408 ¥ TvE (2) FhEh Itm EZEE 2.43.14 2 8 3
12 2227 AR Th% (2) hEh )7 L 2.53.37 2 2 4
13 3057 KH M7z (2) T4 T HEE bR 3.01.60 2 7 5
14 1915 #hfk KB (2) =yat) W = 3.01.84 2 6 6
15 2229 JI| 1 Py (2) AN L 3. 06. 63 2 3 7
16 1914 #hfE  EE (2 Y/ s HE- 3.50. 34 2 9 8
2410 &M 7z (2) 2N ) B DNS 2 4 0

2128 |LH Iz (2) Y8 ARG DNS 1 9 0

JFL5l  DNS: &5



F11 « 2Z+4X100mR

T HETRERR - HETBERRS -

N -

hERAEER - HETREREGS

7 OH RS
RO « A

it 3C

S5

ALV —A
JIBAE  F-04 ok Vb HL Vv EIE == fun- K4 14 i
1 HZE g 53. 36 1 2 1 1912 1 K (2 M vt HET
2 1917 KAV FH# (1) w97 Fw HET
3 1920 f%  #wvE (D 7)) n HEZ
4 1911 JBJE B4 (2)  w=)  *rif HZE
2 Kt 53.73 1 3 1 2511 FAVH HA (2) U7 vk KAt
2 2509 Rl b (2)  FhF $a2) Kk
3 2513 ZRIU e (2)  B)Yv P Krtrp
4 2512 JEE L2 Q) =y Kt
3 [t 55. 05 1 4 1 2411 B ik @ A o BIZEE
2 2407 &5 e () hvx a5
3 2409 J& TFE @ 7 FH a5
4 2412 |l AEEE (2) vk uay ElZLA
4 HE—h 56. 06 2 5 1 1834 lioc  HA& Q) AbEh )Y HE—h
2 1836 KBl  HA (2 77 = 1% E—rh
3 1832 #HH NNV M o E—h
4 1830 #adk B (2w 3 Z—-
5 lirp 56. 46 2 2 1 2222 W EEY (2 ¥ I
2 2223 KIF HOE (2) A WUR el
3 2228 Rk B @ Tz i
4 2231 ZJH X< B (2) N )7
6 HE=h 56. 53 2 3 1 2055 Ky i (2 77 AH)
2 2048 JE HER (20 »7 )
3 2046 fHEF  RE (2 W) TH
4 2051 KH KE (2 M Tk
7 FHG 56. 56 1 5 1 2313 i #F (2) hy Ex
2 2324 f)Il F= (2) AVhY Fen
3 2314 FH ERE (2) INZENES
4 2322 &l #EE (2) By Eh SEHH
8 Il 57. 00 2 6 1 2718 i WIEAE (D) A4V e99) EIIELE
2 2714 JR s @2) 7 T 2211 VE
3 2712 Zxfh WiE 2 W17 2211 VE
4 2720 M ¥AH () vk 251178
9 g 57.24 1 6 1 2134 HHE MR (1D AVF 2fh TP
2 2125 g %y (2 AN TV T
3 2135 JIf  MRAE (1) xA 70 T
4 2127 P REAK (@) bt af I
10 HZE=B 57.75 2 4 1 1916 &JF OO )  af th) =
2 1913 A EFE (2 AV U
3 1919 )1 A (D) 7w 72l :
4 1918 B XK (1) A a2 HZE



2 5+100m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR Sk
FER AT ¢ TR

it 3¢

5%

11H1H 12:50 T3

ZEisk (GR) 11.48 M (NE—-H) 2012 1131H 15:17 Jepk
T 3H0E+8
1%H B 0.1 2%H B 0.0
NEAL V=v  fun - K4 i Fofk aAvb Q ERE V= fon - K4 B Fofk Vb Q
VFz ) aveht agaf
1 4 2073 it WRZE (2) HE= 11.93 aq 1 32224 JhAA HUFE Q) EwEiLH 12. 25 a
JENVA APAN MEVEA:ES
2 5 1911 B b (2) HEITE 12. 49 aq 2 4 2027 7t (2) HE= 12.41 a
A%Hh Vv %) A%
3 3 2227 A i (2) il 12. 69 q 3 6 1857 fHEF MEE (2) HE—F 12. 64 a
LEZ TN INT T
4 9 2132 (R ipME (2) MRS 12.74 4 5 2130 = K— (2) WEEH 12.95
Yvih J9h myT Ry
5 6 2325 (L Z2E (2) SEHH 12.74 5 2 1919 @M KL (2) HE G 13. 04
G SIRZ)
6 7 2408 fRiF i (2) s 13.30 6 7 2515 =gk EkE (2) Kb 13. 06
Th7 Vauk % Janhay
7 2 2510 /K ek (2) KtkH 14. 28 7 8 2418 AR FEKER (2) MG 13.58
=yat) by t7) b7
8 1851 &k MIES (2) HE—H DNS 9 2328 FE (2 S H DNS
3%E J&: 0.4
NEAE V= fon - K4 i) RLgk  apvb Q
v vy
1 2 2070 +iLC = (@ HmE= 12. 39 a
IR 42
2 7 2714 FE&MW =& (2) E)IFEF 12. 44 a
EVEIEYL]
3 4 2324 &FE BK (2 SEH 12. 80
Wy A7k
4 3 2133 #HH gk (2) WEFH 12. 94
e EVLY)
5 6 2409 A Ut (2 Mg 13.16
FhLT vvhen
6 5 1853 HiRf KES (2) MHE—F 13.38
NeAEI Y
7 9 1916 Hwx  EKR (2) HEG 13.59
YA
8 8 2221 WH ek (2) L 14. 04
FL#5l DNS:&i5



2 5+100m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR 8kE WS
FRER AT - TR W

11H1H 12:50 T3

SRk (GR) 11. 48 EH . (HE—1) 2012 11A1H 15:17 P
7
J&:  +0.5
JBAL V=v  Fun' - K4 BiE] Fogk aAvb
Ve Y
1 6 2073 +iC ze (2) == 11.98
ayefit agaf
2 4 2224 /NA4LE MUE () B 12.37
VFr vy
3 72070 T = (2) WmE= 12. 41
B 4=
4 9 2714 WM E£E& () FFEH 12. 46
VENUA AN
5 8 1911 &Y% B3 (2) HEZF 12.51
AEUAES
6 5 2027 4k 7 (2) HE=H 12. 54
%) Tr%
7 2 1857 fEEF wEE (2) HE—p 12.72
AREN Vv
8 32227 AT i (2) L 12.81

PRL]]



2 B +1500m

X HETRERR - HETHERAR

- HE -

PERAEER - HETEEREBS

AR 8kE WS
FRER AT - TR W

11A1H 15:34 P

SFisk (R 4.22.30 U Fm OREEE) 2013
7
JIEAZ ORD  fvn'— K4 BiE] RLER Vb
FF74 a4
1 18 1861 &  HEK (2) HE—F .33.05
Y VARVEVYY)
2 8 1915 KW Hiff (2) HEZ .33.63
EVAE SR
3 2 2715 /NEE RAE (2) Z)IFEH .33.77
LNV,
4 5 2138 AL W (2) R .34.22
7) U:L|7:/3|7
5 4 2514 Ai#y e (2) Ktk .40.26
an) vay
6 20 2220 (A Be (2) i . 40. 66
AT aknny
712 2016 JBES JERER (2) HE=S .40.93
T ve o
8 11 2513 kB 2 (2) Kk 41,41
EREZ
9 14 2707 FHA A (2)  2ZBJIVEH .42.37
w=0 Ty
10 6 2225 JERE L (2) il .54.88
74 b2
1119 2326 HE z (2 A .55.61
=Vh7 Vankny
1213 2139 PEAS JEAKES (2) TR .55.69
YvEb Jvb
13 16 2427 LUK B3 (2) g . 56.32
v vk
14 10 2512 =R mA (2) Ktk .59.53
AYNG anh”
15 12712 A/ & (2) 2BJIFES .59.90
h% aya¥
16 9 2069 W mz (2) HE= .04.76
INZANEE ¢
17 3 2415 BA ERR (2) (ARG .08.26
A% ey
18 7 2007 MIE W o(2) HE= .11.29
ay) ik
19 15 2135 =% EK (2) W .19.85
TV YAt
20 17 2407 &R BE (2) mgT . 43.37

PRL]]



1 - 25 F4X100mR

T HETWRERR -

HETEERAR - HEF/D -

REREEER - HETRLRERGS

# B -SRI
FESREAT: : THS

it 3C

S5

1131H 16:53 P

145 6V—y F-b HE=| 47.21 235 =y F=b%  {EEH 48. 38
=4 N - K4 i) A P - v 2 P&
EVIRT: W (7 %
1 2027 7= (2) HE= 1 2133 #HHMH Fx (2) Al
Ve Y ®)=y apy” 2y
2 2073 HiT o s () HMES 2 2129 WP BebE (2 R
AN 1 Y 2y
3 2071 S 1785 (2) HE=rh 3 2128 /INKS “h(2) TR
v vy N i
4 2070 L 1= () HE=H 4 2130 =JH K— (2 T
3% 5b-y F-h4  IELT 48. 45 435 2v=y F=b% SEHEA 48. 66
T4 - - K4 i) T4 - N - K4 [EilE
Y4 tny Wy A7k
L2222 RmoOS @) b 12133 HM O GUK ()
194 T2k PZ A2
2 2228 B ABEE (2) el 2 2323 HH (2 S
A2 vox Yk b
32227 Al GEW (2) 3 2329 B HEE 2 CFEd
ayeht agaf HAI% any
4 2224 /NAL HE (2) el 4 2324 &E HK (2) S H
57 - =04 HE-F 49. 51 635 v=v #0443 F 51. 07
T4 - - K4 Eine i A P2 - v 2 P&
TR Y ) T2k
1 1856 P&l e (2) HE—h 1 2723 Zxin A (D) 2B
By vantd A
2 1860 it H ®E (2 E—p 2 2714 M *£E (2 )P
EN AV CINEAIEN
3 1858 IaA M (2) HZE— 3 2718 /R B (D )1
%) Ti% VM
4 1857 fa I (2) HZE— 4 2724 PEM & (D) )P
T 9W-v F-b4 (ARG 51. 26 8% 8V-v F-bg  Kibe 52. 87
I8 - N - K4 Bine) i A 2 e = v 2 B
A0 T YR EV]
1 2408 fF Y (2) AR5 1 2510 /M FER (2) Kk
2 A NUR%
2 2416 JFMH =ik (2) EIZES 2 2515 =k EE (2) Ktk
e EVZEY) 7) Vanyay
3 2418 1IEAK  ZmKES (2) EIZES 3 2514 A%y EH () Kt
e EVLY) T ve gy
4 2409 A th (2) EIZEE 4 2513 k& 2z (2) Ktkrp
9% -y F-0 HE G 54. 21
== - K4 i)
IVASVEY
1 1913 AR HE (2) HE=
JENA A
2 1911 &8 %3} (2) £=-
NeAE IOy
3 1916 ‘= FER (2) HE=H
Ty By
4 1919 i H Zjil (2) HE=

PRL]]



1. 2%&F200m
O o 8km Wi
AT H R

SRk (GR) 25.5 g B (HE—H) 1982
ZALhL—RA
AT fon - K4 44 RLER 2A4/b L vy F5IA
1 3051 fifk HHET 'VEEYE 27.46  +0.2 1 4 1
2 2530 D e DEFAT AR 28.23  +0.2 1 1 2
3 2132 4l IFE VEZvUN 28.71  +0.2 1 9 3
4 1836 KIH ARA = FU% 29.22 0.7 3 1 1
5 2326 fJf SR Ayng hik 29.25 +0.2 1 7 4
6 2223 KIf HOE A IVTF 29.43  +0.2 1 6 5
7 2023 JEIR B TYNT ek 29.46  +0.2 1 8 6
8 2228 RN B P ARSL S 29.60 +0.2 1 3 7
9 2719 fex kK THa % F4b 29.68 0.7 3 6 2
10 2411 B (R4 ALY 29.69 0.8 2 5 1
11 2712 %44 17k B 4 20.84  +0.2 1 2 8
12 2409 J§ TH NG FHb 29.99 0.8 2 8 2
13 2055 KE 7Y A% 30.04  +0.2 1 5 9
14 1912 A ) M qtn 30.19 0.8 2 2 3
15 1913 A7 ES T VAN AN/ 30.22 0.8 2 6 4
16 2130 kB ESUS AT 30.23 0.7 3 2 3
17 1911 BiE [iES v=U  %xf 30.34 0.8 2 3 5
18 3058 A& T Hi B)YF bk 30.37 0.8 2 9 6
19 2324 Al F= AVHY Ftn 30.43 0.8 2 4 7
20 1832 #M W wp o7y 30.57 0.7 3 3 4
21 2231 =R &< B NYR VY 30.59 0.8 2 7 8
22 2129 4:H #HE A78 N 30.71 0.8 2 1 9
23 2716 A AR 77% 24h 30.93 0.7 3 7 5
24 2514 FHH AE 2N 31.01 0.7 3 9 6
25 2052 KAk ¥EH TAE) M % 31.85 0.7 3 5 7
26 2412 (Liigy FE Yok s 32.83 0.7 3 4 8
27 2549 @K ESES VY EIRVEN 32.94 0.7 3 8 9

PRL]]



F 1+ 2%&F100mH
9 o BfE WS
TR TEAT TR R

FEk (GR) 14.70 KB AT ORtEH) 2013
A LL—RA

AT fon - K4 44 et 2A4/b L vy F5IA
1 2509 Rl @b AR 16.05 -1.6 1 4 1

2 2513 ZRIl /S ye ¥ 16.82 -1.6 1 3 2

3 1813  &infdk o e =yat) %7 17.01  -1.5 2 2 1

4 1830 i B w4 T3 17.54 -1.6 1 8 3

5 2407 45% ffe LEVE 17.60 -1.6 1 5 4

6 2125 (g By by 7Y) 17.85 -1.5 2 4 2

7 2134 #=H MESE AVY ) 17.96  -1.5 2 3 3

8 2136 K it It) AR 18.01 ~-1.5 2 7 4

9 2512 JEE LA = Fit 18.15 -1.6 1 6 5
10 1832 & o EDZ A E 18.34 -1.6 1 7 6
11 2714 J5t Frots NG b 18.56  -1.6 1 2 7
12 2322 &l WHE e B 18.57 ~-1.5 2 8 5
13 2720 EH *x mh % 18.89 -0.4 3 3 1
14 2327 WK FE Fha7 )k 19.11 -0.4 3 5 2
15 2055 KEP {7k 7Y A% 19.15 ~-1.5 2 6 6
16 1919 “EJI| H S/ VEEN 19.88  -0.4 3 6 3
17 2020 FHH i 2N 20.17 0.4 3 2 4
18 2249 {FE - K&y ANy 7% 21.72 0.4 3 7 5
19 2245 [ 3 Y3k 24 25.64 —0.4 3 4 6
2051 KM = T8 Th% DNS 2 5 0

FL#5l DNS:&i5



I:F[")#‘“ﬁ‘%j‘\——- 7" > 100m EfE HETRERR - HETHERAR - HEF/D - hEREAEER - HETR LRGBS

AR 8kE WS
FRER AT - TR W

11H1H 12:30 P

VN

1%H i +0.3 2%H A +1.8
AL V= fun - K4 i Fofk aAvb IBRE V= fun - K4 B Fofk V)
Jud Uy V)X IATE
1 4 2329 Hig 2R () S H 14. 63 1 1 2247 [ ks (1) il 15.13
A¥)7 aya AN
2 5 2022 iR B (1) HE=F 14. 95 2 6 2312 MY KH (2) SHH 15. 58
PR O
3 3 2222 B (2) L 14. 98 3 9 2049 FfH fEfy (2) HE=H 15. 67
N7 ¥ VZAE
4 6 2320 i THbE (2 SEHH 15.13 4 3 2521 M £ (1) Ktk 15. 83
t) i R ER
5 2 2248 HE HEE (1) L 15. 34 5 8 2239 EE mE (D il 16. 25
A=y AR DA
6 8 2319 JIE #EE (D S 15. 57 6 4 2224 JEIT A (2) Eild 16.51
Th7 kY 77EN ¥z
7 702235 B R (D EILH 15. 67 7 2 2237 AR OEHE Q) &b 17.35
NAVAR &= UNUARNEN
8 9 2528 =R e (D) Ktk 15. 83 8 7 2242 ¥TH HA () 17.59
LYV Y 9% =N/
9 12226 A WH (@ EUE 16. 99 5 2406 &% IFER (2) mH DNS
3HH J&: 0.1
= A = P& Fogk aAvh
770 wtn
1 3 2238 W FHE (D il 14.73
i) 2%
2 42233 K% Ay () B 15. 26
Yorh 7
3 2 2036 (LA % (1) HE= 15. 28
=k 7Y%
4 8 2330 WE ME (1) S 16. 00
73y 74
5 9 2225 EHB EH) (2) W 16. 11
AVIET amh
6 72201 A AR (2) 16. 59
VZZAN N
5 2410 &M Z=M (2) kG DNS
W ye Fen
6 2321 I Tk (D SEH DNS

FL#5l DNS:&i5



I:F[%ﬁ‘%j‘— 7° ‘/800m T HETRBEHS - BETREZES - HEH/ - PERAETER - HEMELREDS
F oW OE o 8Em WisC
FOERTAT WA

11H10 14:38 Jepk

VN

JIEAZ ORD  fvn'— K4 BilE] RLER Vb

AxAD 2)h

1 6 2133 4 FFE (1) WEP 2.35.03
v/ kY

2 5 2053 [ FE (2 HE=4 2.36. 36
)= 2

3 4 2243 KH B b 2.39.65
472 T2

4 3 2240 HRE Wy (1) 2.49.43
AR Fen

5 2 2244 JIIE - By (1) Bl 3.06. 55

PRL]]



F1 - 2&KFEEBE

- HETRERR - HETEERER - HEH/N - pEREFER - HEHELHREK

F1 O
=

P R 8m i
FLERTAT - A SR
LLATH 09:15 %o

K iigk (GR) 1m59 Al AE (HE—) 1987
b7
et somE| -l R 1m20 | 1m25 | 1m30 | Im35 | 1m40 | 1m43 | 1m47 | 1m50 | 1m52 . )
Ay <f x|O] |O ¢) @) 0 x|ol |o 0 x| x| x
1] 10f 2523|phEE = (1) | KL 1m50
w7 Ik o} o) o) x|lo| x| x]|x
2 1 2511 EoR (2) Rtk 1m35
AMT T4 O x| x|olo x| x| O] x| x| x
3 9 18144 (1) |[HE—F 1m35
2 VBN EN O O @] x| x| x
4 8l 191931 Ho() |HEF 1m30
AR O x|o| |o x| x| x
5 11 2018| ok (1) |HE=H 1m30
A9 7Y) @] O x|O x| x| x
6] 13 2125\ {7 % (2) [ 1m30
JogE vda @] x| O x| O x| x| x
7] 15|  2524| iy JiEET (1) [ KL 1m30
VAR AL 6] o) x| x| x
8 7| 2248|ZERIL EAy (1) L 1m25
74 3ve” @) x| x| Of x| x| x
9 4| 2029|mEEyF HE (2) |IHE=rp 1m25
7HE )z @] x| x| x
10 6] 2050|FH A AE (2) |HE=F 1m20
AW hAY X|O| | x| x|
11 5 1812]56% & (1) [HE—F 1m20
) AR x| O] | x|x|x
11 14| 2136 K% g () [WEgT 1m20
AV4 2% x| x|O] x| x| x
13 3 2134)4H MESE (1) |[TrE 1m20
)= % x| x| x
12) 1836 kBl HH (2) |IHE— NM
MoFaT
ol 2328l mE @ |Emw DNS
FLBI NM:ER8%7%L DNS:Xi5H




I:Fl 1 - 2#%%;@@5 e HETHERS - HETEESES - HET/ - PPERAEER - HETREBRGS

#FOH R gkm Wi
FOEREAT - AT WA

2388k (GR) 5m09 ol BT (HE=4) 1984 11H1H 12:00 Bk

VN

o | IR 122 L EEN O ECEN NP RS RN TR IR R FC TR 247}
Wy k) X 4m80 | 4m45 | 4m80 7 4m72 | 4m88 5m00  |5m00
1 12 2529 [ 2 (1) KAt +1.2 | +0.5 | +1.2 +0.4 | +0.6 +1.4 |+1.4
»7 Fh 4m80 4m71 | 4m70 | 4m80 8 4m42 | 4m66 X |4m80
2 7 24095 TH () |mpgT +0. 4 +0.4 | +0.7 | +0.4 -1.2 | -0.2 +0. 4
VY 4m49 — 4m65 | 4m65 5 4m41 | 4m58 4m74 |4m74
3 16 20485 mER () [HE=F +1.0 +1.8 | +1.8 -0.9 | +1.1 +2.6 |+2.6
BYv % 4m47 4m67 | 4m63 | 4m67 6 4m52 | 4m61 4m49 [4m67
4 4 2513 | A% (L e (2) |[RftH -0.5 +0.4 | +0.5 | +0.4 +1.7 | +2.0 +2.4 |+0.4
Iy ik 4m58 4m37 | 4m42 | 4m58 4 4m29 | 4m17 4m00  [4m58
5 3 1817 &k AL (1) |-t +0. 7 +1.6 | 0.1 | +0.7 -0.5 | +1.6 +0.6 [+0.7
47 bf 4m09 4m37 | 4m44 | 4m44 3 4m25 | 4m38 4m15 |4m44
6 9 2515 | A AT H#E (2) | Ktk +0. 8 +0.7 | +1.7 | +1.7 +0.3 | +0.9 -0.1 |+1.7
N TR 4m23 X 4m27 | 4m27 1 X X 4m38 [4m38
71 21 2714 oo (2)  |ZE)IVEH +1.9 -0.5 | -0.5 +1.4 [+1.4
ek 0 4m31 3m93 | 4m20 | 4m31 2 4m16 | 4m19 X |4m31
8 6 1834l ot B (2) |HE—F +1.0 +0.9 | -0.6 | +1.0 +1.3 | +1.8 +1.0
VA 4m16 3m71 3m95 4m16 4m16
9] 15 2018 ][] poH (1) |HE=F +0.5 +0.5 | -1.9 | +0.5 +0. 5
A T0h 3m89 4m04 | 3m95 | 4m04 4m04
10 10 2135|7144 HAE (1) IR +1.6 +2.2 | +0.4 | +2.2 +2.2
VALY 3m83 4m01 | 3m59 | 4mo01 4m01
11| 18 2236 55 fe (1) [l +2.9 +0.2 | 0.1 | +0.2 +0. 2
N Av] 3m73 3m84 | 3m91 3m91 3m91l
12| 20 2126] = 5k WE (2) [ +0. 7 +0.9 | -0.1 | -0.1 -0. 1
TV NG THA — 3m89 | 3m85 | 3m89 3m89
13 8 2722|BEE vy (1) |G +1.9 | 0.0 | +1.9 +1.9
TN VR 3m69 3m84 | 3m86 | 3m86 3m86
14 1 2012 |l APl (1) [HE=T +1.2 +0.1 | +0.3 | +0.3 +0. 3
VSR GRS 3m72 3m81 | 3m83 | 3m83 3m83
15 2 2246|720l EAy (1) [EiLh +0. 2 +0.7 | -0.6 | -0.6 -0.6
g % 3m78 3m68 | 3m74 | 3m78 3m78
16| 14 27205 ES; IOV BN +0. 5 +2.0 | -0.2 | +0.5 +0. 5
Yy v 3m76 X 3m69 | 3m76 3m76
17l 13 2140| % 1 EE (D) | +1.0 +0.9 | +1.0 +1.0
LAY ¥ 3m72 3m62 | 3m56 | 3m72 3m72
18] 17 2232|4 Hk (2) | +0. 7 0.0 +1.2 | +0.7 +0. 7
Wy 2kt X 3m58 | 3m29 | 3m58 3m58
19 19 2318| =/ &R (1) T +1.1 | +0.5 | +1.1 +1.1
AMH™ B 3mb7 X 3m57 | 3mb7 3m57
20 5 181252 A Q) |[HE-P +1. 4 +2.3 | +1.4 +1.4
h)Y Ex 3m19 — 3m54 | 3mb54 3m54
21| 11 2313 B (2) S +0. 7 -0.8 | -0.8 -0.8

LI




I:Fl 1 - 2#%@%& e HETHERS - HETEESES - HET/ - PPERAEER - HETREBRGS

#FOH R gkm Wi
FOEREAT - AT WA

gk (GR) 11m95 KE A (HE—A) 1987 L11H1A 13:00 B

VN

o | IR 122 L EEN O ECEN NP RS RN TR IR R FC TR 247}
7Y ) w3
1| 14 2220 | AR FAHo(2) fEibd 9m12 10m64 | 10m14 | 10m64 8 10m35 | 9m67 9m59 |10m64
Irye tzh
2 2 2322|411 BE (2) S i 9m00 9m15 | 8m94 | 9mi5 7 9m23 | 8m85 9m12 [9m23
NAEY
3| 12 2325 = m& (2) - Sm23 8m36 | 9m02 | 9m02 6 8m00 | 8m60 8m17 |9m02
DAY
4| 17 2234 B WS g (1) i Tm62 7m94 | 8m64 | 8m64 5 8m47 X Tm57 |8m64
7V E) 73
5 7 2217 |4 b (1) |kl 7m89 8m21 | 7m86 | 8m21 4 m67 | 7m41 8m26 |8m26
A
6| 21 2315ERT £ (2) - Tm21 m37 | 7m50 | 7m50 1 8m23 | 7m93 7m62 |8m23
JEN/ASH
7 3 2406| &40 HER (2) M Tn37 m93 | m59 | 7m93 3 m9l | 7m26 Tm87 |7m93
7)=7 vty bhY
8 1 2016|v)-7 <vt) th) (1) |HE=r Tm34 6m94 | 7m55 | 7m55 2 w47 | 6m97 m35 |7m55
+hy eh)
9] 19 2009 | Ve g JeHE (1) |HE=F 6m96 m22 | 7m21 | 7m22 Tm22
Phing Fik
10 9 1817 &/ AL (1) [HE—-F 6m88 7m0l | 7m22 | 7Tm22 Tm22
L2 I
1] 10 3058| & T 2L (2) |HERES 6m37 6m80 | 5m96 | 6m80 6m80
ey madll
12 6 2718|fE% BEAE (1) |[)IvET 5m89 X 6mb 1 6mb1 6mb1
AETVARY
13] 13 1811 | # LB (1) |HE—F 6m13 6m48 | 6m31 | 6m48 6m48
VA EN
14 18 2139) A A (1) AR 5m82 5m95 | 6m37 | 6m37 6m37
7N
15 4 2514 |44 H e (2) |kt 6m26 6m01 | 5m88 | 6m26 6m26
=y} kavh
16 5 2713 m AR EFNNCLE 5m55 5m80 | 6m07 | 6m07 6m07
LYY
17l 16 27104 sk (2) |FE)PEF 5m50 5m54 | 5m96 | 5m96 5m96
Yt Vil
18] 11 21411 L PRES (1) [ 5m69 5m85 | 5m60 | 5m85 5m85
h% 372
19 8 2549 A E£4& (2) | Ktk 5m74 5m31 | 5m72 | 5m74 5m74
=yat) 7y
20 20 2035 | &k XE (1) [HE=T 5m34 5m09 | 5m29 | 5m34 5m34
AVEN D
15 2522 A FE (1) Kt DNS
T 3
22 2143 | KB (2) | DNS

JL5] DNS:Xi§




F 1. 2%F200m
O o 8km Wi
REEAT WA R

SRk (GR) 23. 32 EH . (HE—1) 2012
ZALhL—RA

AT fon - K4 44 et 2A4/b L vy F5IA
1 2073 T AZE vFz ) 23.80 +0.1 1 8 1

2 1911 &4 #3) NV VA 24.92  +0.1 1 4 2

3 2132 LR i AEC TN 25.25  +0.1 1 5 3

4 2070 +iT - vFr vy 25.36  +0.1 1 7 4

5 1857 HEHF iz k) T 25.42  -0.2 2 2 1

6 2714 #%M ey 9% Fq2 25.83  +0.1 1 2 5

7 2324 &% BEX HAV% any 25.85 —0.2 2 8 2

8 2030 JHiE  IRA AVEEV 26.18 0.0 3 4 1

9 2222 %M A, Y4 tny 26.34 +0.1 1 3 6
10 2223 KE  EA ) ank 26.40 —0.2 2 5 3
11 2723 % xRt By) Tk 27.25 0.0 3 7 2
12 1916 B =X NeAES Y] 27.62 0.0 3 6 3
13 2234 KR fABk ENOVEEUA 27.82  +0.1 1 6 7
14 2142 KK e iy KR GEVZY) 27.83 0.0 3 8 4
15 2425 HH N, Vo Vat 27.85 —0.2 2 4 4
16 2718 /MR A Ny Yya 27.86 0.0 3 5 5
17 1815 #&H R I8 M 28.28 0.0 3 3 6
18 2428 EEHD G VRPN BU% 28.84 0.2 2 3 5
19 2537 1N B BEGF Y anh 29.08 0.0 3 2 7
1920 @37 (7N TEF b DNS 2 6 0

2328 FEP A t7) M7 DNS 2 7 0

FL#5l DNS:&i5



F1 .+ 25F400m

T HETRERR - HETEERAS - HEF/D -

hERAEER - HETREREGS

%MK 8km ST
FLER AT WA W
SRk (GR) 0.55.00 mE B Okt 2011
ZALhL—RA
AT fon - K4 44 [Bil) RLER 2A4/b L vy F5IA
1 2129 HiE PR (2) K=y any’ 2y T 0. 55. 55 1 7 1
2 2323 HM £ (2) P SEE 0. 56. 52 1 4 2
3 1858 AR ER (2) wEN BU% HE— 0.57.05 1 6 3
4 2228 I HE (2) 04 T2k L 0.58.91 1 2 4
5 2075 =k #ik (2) NN HE= 0.58. 96 1 3 5
6 2408 fiF Ui (2) A0 YT EZEE 0.59. 08 2 6 1
7 1856 (L Bt (2) AT Vay HEE—rh 0.59.16 1 5 6
8 2074 WNEE HEK (2) FAM) vy == 1.01.62 2 5 2
9 2012 JERHH fiz (1) tot Uy E= 1.03.97 2 2 3
10 1927 R &g (1) v)F ank = 1. 06. 83 2 3 4
2320 Bk B (1 7z AFY S DNS 2 4 0
FL#5l DNS:&i5



|:F[ 12 %%800m I HETHRERS - HETEERRS - HEM/D - hEREETER - HETREBREGS

FOH R 8kE W
FOER AT - A SR

sk (GR) 2.07.65 L B Otk 2013
A L —RA
JIEAT fon - K4 hH4 GIE! RLER LY ¥ v-y EJHE
1 2323 HH 2 (2) TS SEH 2.14.15 1 2 1
2 2140 Kl I (2) ERS AL RN g 2.14.65 1 4 2
3 2514 il B (2 7) Vayvay Kt 2.15.67 1 7 3
4 2220 {ATHF B (2) ay) yav L 2.16. 45 1 1 4
5 2075 = I HIk (2) W3 Yy HE=H 2.17.91 1 3 5
6 1915 K Hilif (2) K AEVYY) Erh 2.22.15 1 5 6
7 2138 @R Wl (2) L NEYYY ARG 2.22.65 1 6 7
8 2225 [GRE L (2) 2= FY (L 2.22.79 2 2 1
9 2148 fex A KFn (1) ¥ b ARG 2.22.91 1 9 8
10 2512 =i wmR (2) s nvh Kt 2.23.33 2 3 2
11 2415 FGA FEVR (2) NEN 2y ElCEE 2.24.54 1 8 9
12 2047 7KK #— (1 Y an ¥ == 2.29. 68 2 8 3
13 2516 “¢H W (2) YAE AAb Kt 2.31.22 2 9 4
14 1927 BRE &4 (1) )t ank E 2.31.78 2 6 5
15 2074 WRE  fEK (2) AR E=rh 2.32.73 2 5 6
16 2410 Ffy nE (2 AR E 2 G 2. 35. 86 2 4 7
17 2417 A% Bt (2) L) vk A B 2.40. 67 2 7 8

PRL]]



F1-2%FF110mH

T HETRERR - HETEERAS - HEF/D -

hERAEER - HETREREGS

T M OE o 8km W
FLEREAT A W5
SRk (GR) 15. 68 I BB (KAL) 2013
A LL—RA

JIEAT fon - K4 44 & et 2A4/b W V- #HJE
1 2416 JEH =L (2) IS EZEE 16.44  +0.2 1 4 1

2 2033 FEiL BA (2 e ayh HZE = 16.74  +0.2 1 2 2

3 2228 I HE (2) 194 72k (L 17.27  +0.2 1 8 3

4 2329 ER EEE (2) YR Tl S 17.61  +0.2 1 6 4

5 2128 /KT i (2) LIV, I 17.68  +0.2 1 3 5

6 1858 #aA M (2) VEN V% HE—f 18.08  +0.2 1 7 6

7 1856 [AL B (2) AT Vay HEE—rh 18.16  +0.2 1 5 7

8 2048 HrH B (1) =y} I HE = 19.49  -0.4 2 2 1

9 2154 wE (1 K vy AT 20.33 0.4 2 4 2

10 2078 & R (1) Y AV 2 HE=rh 20.46 -0.4 2 7 3

11 2327 B ®A () VS E A SEHH 20.51 0.4 2 5 4

12 2708 Zfr  5ME (2) Vi 21|75 20.55 —0.4 2 3 5

13 1814 JE B (D 4)9% Ab W —rh 21.33  -0.4 2 6 6

14 2428 JEE R (2) DS VES EZEE 23.07 0.4 2 8 7

PRL]]



EP‘P#‘A% %j‘_ 7" > 100m EfE HETRERR - HETHERAR - HEF/D - hEREAEER - HETR LRGBS

AR 8kE WS
FRER AT - TR W

11H1H 13:00 P

VN

1){@ E: +0.6 sz,ﬂ A: +1.6
A N v i Fofk aAvb IBRE V= fun - K4 B Fofk V)
SNV N YAREVED]
1 72028 WuEE MEK (1) HES 13. 41 1 8 1914 iFM B (2) HEH 14.01
W vay Tt 4y
2 4 1912 ‘m@ Q) HEZH 13.99 2 4 2046 R HE (1) HE=G 14.25
w97 )7 VIR APV
36 2345 RNl oKZE (D) SEHH 14.15 36 1817 Ak HEA (1) HE—F 14.72
w7 Faya’ VA
4 5 2343 RN OBE (D SEHH 14. 27 4 5 2226 HM fesp (2) il 14. 89
WD 2984 NG e
5 2 2348 AR fEKXK (D SEHH 14.53 5 72350 JlEE Ot (D S 15. 75
sy Ihy NG ayRE
6 9 2344 =IE | (D SEE A 14. 67 6 3 2341 J A (D SEE A 15. 86
Yhooag)ak shny apk
78 1891 KM f&KzBy () HE—h 14.78 22077 AR BEEE () HEET DNS
VAVKES URYTE v
8 3 2342 JRU EEE (1) SEHEH 15. 76 9 1917 #E B (2) HEF DNS
iy V)
1 2079 &G A7e (2) HE= DQ, FS
3HH J&: 0.6
NERE V= v = K4 P& Fogk aAvh
WA Janh
1 32339 b gEsF (D A 14.18
YYUREYYY
2 2 2347 ZAFn EiE (1) E@EHF 14. 50
AVARED
3 4 1818 ik (1) HE—H 14. 86
DhEAT gy
4 8 2346 PEES HEH (D S 15. 08
YeEh Japa’
5 5 2020 AR EH (1) HE= 15.93
VB 2y
6 9 2026 M Bgo (1) HE= 16. 67
Vi) Wb
71923 HiF mK (1) HEZ DQ, FS
eV LS
6 2321 mfE E&A (2 SEHH DNS

Rl DQ:&%k# FS:FIEXS—b DNS:XKigZ



h& 5B ¥4 — 7 1500m

X HETARERR - HETHERAESR

- HE -

RERAEER - HETEEREGS

AR 8kE WS
FRER AT - TR W

11H10 15:43 ¥epk

VN

JIEAZ ORD  fvn'— K4 BilE] RLER Vb

AN AT

1 2 1942 ZHE KW (3) HEF .42.40
ag) By

2 9 2147 &YW o) W .42.99
Ah3 7k

310 2149 |wR A& (1) WET .52.98
S NAAN

4 5 2150 @A Rk (1) WEEH .58.22
FAT anh

5 8 2025 THE @K (1) HE= .00. 53
/oy

6 4 2015 Hu = (1) HE=9 . 08.55
Y= ank

7 6 2076 BRA B (1) HE=F .22.78
UZEEIAA

8 3 2072 MRE F3l (2) HE=T .26.18
B h= v

9 702337 Wy ¥ (D A .28.77
w1 Iy

10 1 2014 3 Zeth (1) HE=Hf .31.29

PRL]]



F1 - 2BFEEB

- HETRERR - HETEERER - HEH/N - pEREFER - HEHELHREK

F1 O
=

P R 8m i
FLERTAT - A SR
LLATH 14:00 %%

K iigk (GR) 1m87 Py s (HE—-H) 1989
b7
wegr| sl 1o -l o 12:732 124713 ﬁgg 1m50 | 1m55 | 1m60 | 1m65 | 1m68 | 1m71 | 1m74 . )
NRT <tn - - - o) o) o) @) x|o| |o x| x|O
1 2| 2416|FH L (2) AT O x|o] | x|x]|x 1m78
YSEEEVAN - - - - - — — x|o| |x|o] [x]x]|x
2| 10 2033 |/ L FEA (2) |HE=H 1m71
AR - - - - x|O x|O x|O O x| O x| x| x
3 4] 2329 ER ERRER (2) |EHTF 1m71
M=y any’ 2y - - - - - O x| x| %
4 9]  2129|EV5  BEIE (2) [T 1m60
VAL ES A1 o) o ) x|lo| x| x]|x
5 8 2327 By IRA (2) S 1m50
ad EVY @) @) @) x| O] | x|x|x
5| 13| 2231|tEm HOE (1) | 1m50
Y4 te¥ O x| x| OlO x| O x| x| %
7 71 2222|%%H w (2) iR 1m50
AN vy o) @) @) x| x| Of x| x| x
8 5| 2227|140 S (2) | 1m50
IR Ay O O O x| x| x
9 1 2724| FEH & (1) |2 1m45
BEN MWy x|O X[ X|O] x| x| O] x| x| x
10 3 2009|3% el (1) [IHE= 1m45
)47y Iy O O x| x| x
1] 11 1BI3|EH &% 2K (D) [HE— 1m40
ANy Vayry @) O x| x| %
11 6]  2017|(FH w1 |[HE=TF 1m40
EPVAE SV x| x
12 2536 /1N e (1) |[RfEH NM

R NM:EEsREL




I:Fl 1 - 2%%%;@@5 e HETHERS - HETEESES - HET/ - PPERAEER - HETREBRGS

#FOH R gkm Wi
FOEREAT - AT WA

gk (GR) 6m40 K% i GHEH) 1978 LIH1HA 14:00 B

VN

o | IR 122 L EEN O ECEN NP RS RN TR IR R FC TR 247}
L ZESEEVED] 5m44 5m39 | 5m35 | 5md4 8 5m36 | 3m94 5m36 |5m44
1 3 207100 ATH (2) |[HE=d +1.5 +1.8 | -0.6 | +1.5 +0.3 | +0.7 +1.6 [+1.5
ayeht agaf X 5m23 | 5m1l | 5m23 7 5m44 — —  |5ma4
2 6 2224/NE4 I (2)  [EEILHE -1.2 | +1.0 | 1.2 -1.0 -1.0
FHED b 5m23 5m04 | 5m01 | 5m23 6 5m35 | 5m25 5ml7 |5m35
3 1 1850|574 el (2) |HE—-p -0.2 -1.1 | +1.4 | -0.2 +0.7 | +0.9 -0.7 [+0.7
R yahtd 4m91 4m85 | 4m99 | 4m99 2 4m81 | 5m22 5m06 |5m22
4] 10 1860/t E Q) |HmE-T 0.0 +1.9 | +1.8 | +1.8 0.2 | -0.7 -0.7 |-0.7
v ay tn¥ 5m07 4m88 | 5m01 | 5m07 5 X — —  |5m07
5| 17 2027 |4k ek () |HE = +2.5 0.7 | 0.0 | +2.5 +2.5
AV X 4m88 | 5m01 | 5m01 3 5m04 X X |5m04
6 5 1852 &5 & (2) [HE—F -1.2 | 0.5 | -0.5 +0.3 +0. 3
% Yansny 4m93 4m82 | 5m04 | 5m04 4 4m92 | 4m89 X |5m04
71 12 2418J1IEAR  sERAR (2) |mBid +0. 2 -1.1 | -0.7 | -0.7 -1.7 | 0.0 -0.7
V)Y A 4m78 4m85 | 4m98 | 4m98 1 4m72 | 4m64 4m85 [4m98
gl 11 2039 11 HE (2) |HE= -2.3 +3.0 | +2.6 | +2.6 +0.6 | +0.4 -0.8 [+2.6
Yo J9h 3m78 X 4m98 | 4m98 4m98
9 8 2325| L 7= (2) - -1.0 +0.2 | +0.2 +0. 2
) ank 4m95 4m74 | 4m61 | 4m95 4m95
10 9 2223 kB EA (2) [l -0.5 +0.1 | +0.1 | -0.5 -0.5
A X X 4m74 | 4m74 4m74
11| 13 2409 |#EA st (2) | +0.1 | +0.1 +0. 1
VAN 4m66 X 4m29 | 4m66 4m66
12 2 22215 W gl (2) |y -0.7 0.0 | -0.7 -0.7
FhT Y 2y 3m59 4m49 | 4m64 | 4m64 4m64
13| 14 2128]/1Mk Wio(2) [T +1.2 +0.5 | +0.5 | +0.5 +0. 5
ENEN Py 4mb4 X 4mb4 | 4mb4 4mb4
14 18 2420 |FRA FHE (2) |t +0.5 0.0 0.0 0.0
EY A Y 4m47 4m45 | 4mb51 4m51 4mb1
15| 15 2534|1E W B (1) [ Rtk -0.6 0.0 -1.2 | -1.2 -1.2
7) I 4m46 4m25 | 4m45 | 4m46 4m46
16| 16 2535 | A B AR (1) Ktk -0.2 +1.0 | -0.6 | -0.2 -0.2
TV NG B4 X X 4m31 | 4m31 4m31
17 4 2540/ &5 KB (1) | Ktk +0.3 | +0.3 +0.3
Fv¥ Vay 3m75 3m95 | 3m95 | 3m95 3m95
18 7 2333|mA (1) S +0. 8 +0.1 | -0.2 | -0.2 -0.2

LI




I:Fl 1 - 2%%@%& e HETHERS - HETEESES - HET/ - PPERAEER - HETREBRGS
FOH R 8kE W
FOER AT WA BE

gk (GR) 12m92 HA PR (HE =) 1984 L1LH1H 09:30 iR

VN

o | IR 122 L EEN O ECEN NP RS RN TR IR R FC TR 247}

VESRNEEVEL

1 4 20715 76 (2 |HE= 8m95 9m15 | 9m10 | 9mi5 8 9m08 | 8m67 8m87 [9m15
W MF

2 6 2130 =5 K— (2) [EEf — 8m54 | 7m06 | 8mb4 7 m48 | 8mb54 7m51 |8m54
AVAZVEN

3 3 2021 |E % HiE (2) |HE =T 7m95 8mi8 | 7m71 | 8ml8 6 m28 | 8md7 m28 [8m47
A2

4 2 2229 JE s Wo(2) b Tm46 m95 | 8mi18 | 8mi18 5 6m97 | 7m47 7m63 |8m18
R A7 %

5 5 2133|35 H Jr (2)  |iTEg 7m83 8m12 — 8m12 4 m67 | 7m30 Tm40 [8m12
fvv o yyay

6 8 1913 | AR EE (2 |HE Tm45 7m58 | 8m04 | 8m04 3 m72 | 6m79 m22 |8m04
F b

7 7 2336|4iE  Eg3; (1) - A 7m03 m05 | 7m71 | 7m71 2 m23 | 7m73 m63 |7m73
VIAEVES

8 9 2080 & i ek (2) |[HE=d Tml6 m42 | 7m28 | 7m42 1 7m08 | 6m95 —  |7m42
1747 bven

9 1 2424 LA ‘=z (1) |t 6m34 6m51 | 6m97 | 6m97 6m97

LI




1 - 2B8FEEk T HETAERS HETEEEES KB/ h R EESR  HE TR
ha % OH B OE X
SERAT TR AR
I1H1H 09:30
2k (R 3m70 WE Bk (=) 2012
K&iisk (GR) 3m50 B EE (WE—) 2010

N

2m00 | 2m20 | 2m40 | 2m60 | 2m70 | 2m80 | 2m90 | 3m00

MEAT| FRIE[ o [ K4 i Fok ap/h

ThhT v/hng — — — @) x| O x|ol o x| x| x

1| 14]  1853|H AT EKER (2) [HIE—9 2m90
) vk - - - @) @) @) x| x| x

2l 10 2515| =k g (2) | KR 2m80
Ah7 YVank - @) 0 x| x|of x| x| x

3 8 2510)/1N seX (2) | KAk 2m60
Ye)uF ) - @) 0 x| x| x

4 2| 1854|lliz N 2 (2) [HE— 2m40
WA a2y} — O O x| x| x

4l 1] et A @ |WEgsh 2m40
e v ady @) O x| O] | x|x|x

6l 12 25384l REH (1) | RAEH 2m40
EEN FY - O x| x| O] x| x| x

7 6]  2420|F%A HE (2) | 2m40
hHve bbb — x|O x| x| %

8 5 1812|411 AN (1) |HHE—p 2m20
)Y Ay @] x|O x| x| x

8l 13 2013 | Bt Eik (1) |[HE=f 2m20
NaZaEUad x|O x| O x| x| x

10 3| 2156l T kA (1) [ 2m20
+hy < #4b O x| x| O] x| x| x

1] 4 emvftus sk () |FIEET 2m20
T*F 47 @) x| X | X

12 7| 2024|E4 e (1) |[HE= 2m00
Yrh A4t x| x| O x| x| X

13 9  2725| (LM Kk (1) |2 2m00
MAEDZ AV I FYA x| x| x

1 2022| A% Gife (1) [HHE=rp NM

R NM:EEsREL




	中1女100m予選
	中1女100m決勝
	中1女800m
	中1女リレー
	中1男100m予選
	中1男100m決勝
	中1男1500m
	中1男リレー
	中2女100m予選
	中2女100m決勝
	中2女800m
	中1・2女リレー
	中2男100m予選
	中2男100m決勝
	中2男1500m
	中1・2男リレー
	中女200m
	中女100mH
	中女ｵｰﾌﾟﾝ100m
	中女ｵｰﾌﾟﾝ800m
	中女高
	中女幅
	中女砲丸
	中男200m
	中男400m
	中男800m
	中男110mH
	中男ｵｰﾌﾟﾝ100m
	中男ｵｰﾌﾟﾝ1500m
	中男高
	中男幅
	中男砲丸
	中男棒高

